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Min Z=% 3 CiiXij

=1 |=1
Subject to
n
JZ_l Xi| (I=1,2,3,
n
> X (=1,2,3,

Xi {01} (=12,

1n1 j:1121

n)
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(4)
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A,B,C,.D

D

(2)



Xi=1 :
Xij=0 :
16
i

X11+X12+X13+X14=1
X21+X22+X23+X24=1
X31+X32+X33+X34=1
X41+X42+X43+X44=1

X11+X21+X31+X41=1
X12+X22+X32+X42=1
X13+X23+X33+X43=1
X14+X24+X34+X44=1

(=1,2,34 ; j71,2,3,4)
(=1,2,34 ; j71,2,3,4)

A
2 Xi
B

4
> Xij
=1

(i=1.2,3,4)

(i=1.2,3,4)



Z

Z = 6X11+1X12+9X13+3X14+
2X21+5X22+7X23+8X24+
6X31+3X32+5X33+4 X34+
3X41+5X42+2X43+1X44

MIN 7 = 6X11+1X12+9X13+3X14+2X21+5X22+ 7X23+8X 24+
6X31+3X32+5X33+4X34+3X41+5X42+2X43+1X44

Sub.to

4

z Xi (i=1,2,3,4)

4
iz_l Xi| (=1,2,3,4)

Xi {01} (i=1,2, 4 =12, 4)
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n
N1,NZ2, Nm

F1,F2,

Fn

bi

Ni

1,

alj

N

vitamin A
vitamin B
vitamin C
vitamin D
vitamin E
Kallum

Calcium



Min / = C1X1 + C2X2 +

Subject to

al11xX1 + a1i2x2 + + ainXn b1
a21X1 + a22x2 + + a2nXn b2

amiX1 + am2X2 + + amnXn bm




TSP
Ci

Xij=1,

2

Cj
Xi

(Traveling Salesman Problem)

Dij(i,j=1,23, N i# )
{0.1} Cl
Xij=0




n Nn
min Z=2. 2 DijXi

=1 j=1
subject to
n
JZ_l Xi| (I=1,2,3,
n
%—1 Xi| (=1,2,3,
{Xij=1}

Xi {01} (=12,

1n1 j:1121
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(2)
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(4)
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43589145600
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Linear Programming

Greedy Method, Stingy Method)
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